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1.
A female lawyer working for a prestigious New York law firm once accompanied the male CEO of a major client to

Latin America to negotiate a complex deal.

(A)It was the local practice, the colleague suggested, for lawyers to negotiate only with other lawyers, not with the
businesspeople. Had the woman lawyer insisted on participating, she would have spoiled the deal and destroyed her
credibility.

(B)Before voicing her objections, however, she called a colleague back in New York, who told her that he, too, had been
excluded from preliminary talks during his last negotiation in that country. The Latin American executive was just
looking for a diplomatic way to get her out of the picture as a lawyer , not as a woman.

(C)Soon after they arrived, the head of the prospective Latin American partner suggested that he and the CEO go off
together to discuss business—while his wife and the lawyer go shopping. The lawyer was outraged, assuming this to be

an example of Latin American gender bias.
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2.

The ancient Greeks sought to improve memory through brain training methods such as memory palaces and the method
of loci. At the same time, they and the Egyptians became experts at externalizing information, inventing the modern

library, a grand storehouse for externalized knowledge.

(A) This need isn’t simply learned; it is a biological imperative— animals organize their environments instinctively. Most
mammals are biologically programmed to put their digestive waste away from where they eat and sleep.

(B) We don’t know why these simultaneous explosions of intellectual activity occurred when they did (perhaps daily
human experience had hit a certain level of complexity). But the human need to organize our lives, our environment,
even our thoughts, remains strong.

(C) Dogs have been known to collect their toys and put them in baskets; ants carry off dead members of the colony to
burial grounds; certain birds and rodents create barriers around their nests in order to more easily detect invaders.

*method of loci: 34E &8§% 71949 =rodent: AXF &
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3.

Broad, open-ended questions show your interest in the other person’s situation. They often start with “Tell me,” “how,

”

[13 ” ¢

who,” “what,” or “why.”

(A) Our computer salesperson might have a client who says, “I need more control over our order system.” He then builds
on that response by asking a question using the most important words in the answer— control and order system . (B)
They are much more powerful than closed questions that require a simple answer such as “yes” or “no” or a specific
piece of information. After the broad question opens the conversation and begins to build rapport, the artful questioner
builds on the responses and increases his understanding of the information being transferred.

(C) For instance, he might ask, “What aspects of your order system would you like to have more control over?” or “Could
you tell me more about your order system?” When the client responds, he builds his next question around the response

to that question, and so on.
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Evolution works to maximize the number of descendants that an animal leaves behind. Where the risk of death from
fishing increases as an animal grows, evolution favors those that grow slowly, mature younger and smaller, and

reproduce earlier.

(A) Surely these adaptations are good news for species hard-pressed by excessive fishing? Not exactly. Young fish
produce many fewer eggs than large-bodied animals, and many industrial fisheries are now so intensive that few animals
survive more than a couple of years beyond the age of maturity.

(B) This is exactly what we now see in the wild. Cod in Canada’s Gulf of St. Lawrence begin to reproduce at around four
today; forty years ago they had to wait until six or seven to reach maturity. Sole in the North Sea mature at half the
body weight they did in 1950.

(C) Together this means there are fewer eggs and larvae to secure future generations. In some cases the amount of
young produced today is a hundred or even a thousand times less than in the past, putting the survival of species, and

the fisheries dependent on them, at grave risk. [3]
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5.

In experientialism, the body is seen as playing a decisive role in producing the kind of mind we have. The mind is
based on the body. In other words, the kind of body humans have influences the kind of mind they have. As a result,

thought is taken to be embodied.

(A) A tree is tall relative to our average human size. In this way, categories of mind are defined by the body’s
interaction with the environment. We call such features of conceptual categories “interactional properties.” (B) As an
example, take the conceptual category of TREE. How can the body play any role in our understanding what a tree is?
For one thing, we understand a tree as being upright. (C) This comes from how we experience our own bodies; namely,
that we experience ourselves as being erect. For another, we see a tree as tall. The aspect of tallness only makes sense

with respect to our standard evaluation of the body’s relative height. [33]
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6.
Surely since we all have the same visual equipment, we all see something as basic as color in the same way? Wrong. It

turns out that color vision isn’t a black—and-white issue. It’s not nearly that simple.

(A)However, the number of differently labeled segments we use varies. Some languages only distinguish between two
basic colors, black and white. Others add green, yellow, blue, and brown.

(B) Language has a significant effect on how we “see” colors —more precisely, on how we divide up and label different
parts of the visible spectrum. Our eyes register roughly the same range of light between the aptly named infrared and
ultraviolet.

(C) This sort of different color categorization is nicely illustrated by the word “grue.” Psychologists use it to describe

languages that make no distinction between green and blue.
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7.
You'll need flour, eggs, milk, and oil to make pancakes. Have your toppings ready as you'll want to eat the pancakes as

soon as they’re done. Follow the instructions below.

(A) When the edges turn brown, turn it over and cook the other side. Remove it from the pan. Enjoy your pancakes with
toppings such as syrup or berries.

(B) Put the flour in the mixing bowl. Beat the egg and mix it into the milk and pour that into the bowl, too. Mix
everything together until it thickens.

(C) This mixture of flour, eggs, and milk is called batter. Heat some oil in a frying pan and pour in some of the batter.

Cook it for a couple of minutes.

@ (A)-(0)-(B) @ (B)-(A)-(C) ® (B)-(O)-(A) @ (O)-(4)-(B) ® (O)-(B)-(A)
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8.
Here is an uncomfortable math problem: By 2045 Earth’s population will likely have swelled from seven to nine billion

people.

(A) Julian Cribb, author of The Coming Famine, says higher yielding crop varieties and more efficient farming methods
will be crucial. So will waste reduction. Cribb and other experts urge cities to reclaim nutrients and water from waste
streams and preserve farmland.

(B) Poor countries, they say, can improve crop storage and packaging. And rich nations could cut back on
resource-intensive foods like meat. In fact, wherever easy access to cheap food means people buy more than they
consume, we could all start by shopping smarter — and cleaning our plates.

(C) To fill all those stomachs —while accounting for shifting consumption patterns, climate change, and a finite amount
of farmland and drinkable water—some experts say global food production will have to double. How can we make the

numbers add up?

@ (A) -(0) -(B) @ (B) -(A) -(C) ® (B) -(C) -(A) @ (C) -(A) -(B) ® (C) -(B) -(A)
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9.

A former resident of Canton, Ohio, was trying to describe her image of the city to her classmates. She found they had
no image of this mid-sized city. She described Canton as a city with major manufacturing facilities and a downtown

revitalization program.

(A) That fact suddenly crystallized the concept of Canton. If Canton is destroyed, the nation might fall. That’s an image
that gave meaning and fullness to what it meant to live in Canton.

(B) Her explanation moved the city from the position of no image to that of a negative image. The class concluded that
Canton is a typical, boring, industrialized city.

(C) Then she suddenly recalled an experience: “I remember hearing from a teacher that during World War II Canton was
a major U.S. target of the Germans.” Imagine, right after the cities of Chicago, New York, and Los Angeles, appears the

name of Canton.
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10.
Studying history is not about memorizing what we have been told—it requires us to investigate the past. Like a

detective, we start with the easy, known pieces of information.

(A) You have to go further to ask questions such as, “Why was he cruel?” and “What were the results of his rule?”
Hence, studying history trains us not to accept everything we read or hear as the truth. Instead, it trains us to use our
critical thinking skills to get the full picture of the past.

(B) For example, if someone told you that Chinese Emperor Qin Shihuang was a cruel ruler, would you simply accept this
as the truth? Or, would you ask questions about the statement and look for information or evidence to support it? (C)
We then shuffle the pieces around to see how they fit together. Once all the pieces fit, we have the full picture. As we

put the pieces together, we challenge ourselves to think of other ways to describe what we know.

@ A-O-3B) @ B)-A)-(0) ® B)-0)-A) ® (O)-A)-(B) ® (C)-(B)-(A)
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11.

One reason why the definitions of words have changed over time is simply because of their misuse. There are a growing
number of examples where the incorrect meaning of relatively commonplace language has become more widespread than

the original intention or definition.

(A) Now, imagine that an angry customer sent you a letter about the service he received in one of your stores. If your
reply is that you ‘perused his letter,” he is likely to get even more angry than he was before.

(B) The word ‘peruse’ is one of them. Most people think that to ‘peruse’ something means to ‘scan or skim it quickly,
without paying much attention.” In fact, this is the exact opposite of what ‘peruse’ really means: ‘to study or read
something carefully, in detail.’

(C) But the word has been misused so often by so many people, that this second sense of itthe exact opposite of what it
actually meanshas finally been accepted as a secondary definition and as far as most people know, it is the only

definition.

@ (A) -(0) -(B) @ (B) -(A) -(C) ® (B) -(C) -(A) @ (C) -(A) -(B) ® (C) -(B) -(A)
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